INTEGRALI

INTEGRALE DEFINITO

i Q. f(X)dx sea<b

Qbf(x)dxz}_o sa=b
; Q. T(dx sea>b
Qbf(x)dx:- § f (¥

Q(c1 f(X) +c,g(x))dx = cl(s f (X)dx + czobg(x)dx

b
\

O f (dx= ) f (9 + 6 f (x)dx
F(X) = Q f(t)dt p F'(x) = f(X)

b
\

Qf(x)dX: F(b)- F(a)

INTEGRALE INDEFINITO

Of (Ydx=F(x) +c

METODI DI INTEGRAZIONE

I (0ax=kdf (dx, k0

S F 9+ g(x))dx = Bf (x)dx + g (x)ax

Jf (9 +9()dx=F(x) + dp(x)dx

10 xg09))dx = F(x)g(x) - ¢ f(x)xg' (X)) (Integrazione per parti)

Of i (0) ' (9dx =yt (t)dtJt:j N dove f:(a,b)® R, j :(a,b)® (a,b)

Of ax=[df G ) '(t)dth(X) dove f:(a,b)® R, j :(a,b)® (ab)
ey :(a,b)® (a,b) (nversadij )

D(y)dy = R .(Y)D(y)dy = [(‘ﬁ(t)]t:y

< R
Ry)dy b oD‘—y)

(y)



INTEGRALI INDEFINITI IMMEDIATI

a+l

@(adx: +cC atil

a+l

(‘))%dx: log|q + ¢

(gdx=¢e* +c
X
rdx=——+c
loga

PN xdx=- cosx+c

(‘posxdx:senx+c

1
O——dx=tanx+c
cos? x

< 1
hdxzarcsenx+cz- arccosx + ¢
1-x

(‘)%dx:arctgx+ C
+ X2

(‘)aenh xdx=cosh x+c

d:oshxdx:senh X+cC

1
O———dx=taohx+c

cosh? x
. 1

A1+ x?

.1 _ _ .
O«/ﬁdx_s:ettcoshx+c_Iog(x+«/x2 - 1)+c in ]1+¥[

dx = sett senh x+c:|og(x+«/1+ x2)+c

e Iog‘x+«/x2 - 1‘+c in ]1,+¥[e ] ¥,-][

ixmn I 4]

. 1 1
ol—zdx:setttanh x+c=—log
- X 2 X

+cin |- ¥ AL ] 21 h+¥]

. 1|Og‘1+x
2 1-x



